
SAP ABAP table T5ITQC {PAT/TT - contribution indicator}

T5ITQC

MANDT [CLNT (3)]

PATIN [NUMC (10)]

VTINA [CHAR (4)]

ENDDA [DATS (8)]

TPASS [NUMC (2)]

CDCON [CHAR (5)]

T000

MANDT [CLNT (3)]
 T5ITQC-MANDT = T000-MANDT 0..N

1

T5ITCS

MANDT [CLNT (3)]

TRFAR [CHAR (2)]

TRFGB [CHAR (2)]

TPASS [NUMC (2)]

CDCON [CHAR (5)]

ENDDA [DATS (8)]

 T5ITQC-CDCON = T5ITCS-CDCON 
0..N

{0,1}  T5ITQC-TPASS = T5ITCS-TPASS 0..N

{0,1}

T5ITQA

MANDT [CLNT (3)]

PATIN [NUMC (10)]

ENDDA [DATS (8)]

 T5ITQC-PATIN = T5ITQA-PATIN 

0..N

1

T5ITQB

MANDT [CLNT (3)]

VTINA [CHAR (4)]

ENDDA [DATS (8)]

 T5ITQC-VTINA = T5ITQB-VTINA 

0..N

1


